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NEW QUESTION 1
Which design element is a best practice when deploying an 802.11b wireless infrastructure?

A. disabling TPC so that access points can negotiate signal levels with their attached wireless devices.

B. setting the maximum data rate to 54 Mbps on the Cisco Wireless LAN Controller

C. allocating nonoverlapping channels to access points that are in close physical proximity to one another
D. configuring access points to provide clients with a maximum of 5 Mbps

Answer: C

NEW QUESTION 2

Which option about JSON is true?

A. uses predefined tags or angle brackets () to delimit markup text

B. used to describe structured data that includes arrays

C. used for storing information

D. similar to HTML, it is more verbose than XML

Answer: B

NEW QUESTION 3

Which set of action satisfy the requirement for multifactor authentication?

A. The user swipes a key fob, then clicks through an email link

B. The user enters a user name and password, and then clicks a notification in an authentication app on a mobile device
C. The user enters a PIN into an RSA token, and then enters the displayed RSA key on a login screen

D. The user enters a user name and password and then re-enters the credentials on a second screen

Answer: A

NEW QUESTION 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 5
Refer to the exhibit.

[ .2

- —— '!‘lﬂ‘lﬂ'llﬂ.'fﬂﬂi
>@—l 10 10 10.0/28 —ﬁ——
T 2

g H i e Router1 Switch1 Host A

(e _ 1010 13214

Routeri#show ip route
Gateway of last resort is 10.10.11.2 to network 0.0.0.0

209165 200.027 5 subnetted, 1 subneis
B 209 165 200.224 [20/0) via 10.10.12 2, 03-22:14

209 165 201 V27 s subnetted, 1 subnets
B 209 165.201.0 [20/0] via 10.10.12.2, 02.26:33

209165202 /27 is subnetted. 1 subnets
B 209 165 202 128 [20/0] wa 10.10.12 2, 02:26:03

10 0.0 0/8 1s vanably subnetted. 8 subnets, 4 masks
C 10.10.10 0/28 s directly connected, GigabitEthemet0/0
C 10.10.11.0/30 15 directly connected, FastEthermet2/0
c 10.10.12.0/30 is directly connected, GigabitEthernet0/1
0 10.10.13.0/25 [110/2] wia 10.10.10.1, 00:00-04, GigabitEthermet0/0 [
0 10 1013 128728 [110/2] wia 10 10 10 1, 00-00-04, GigabiEthemet(/0
0 10 10 13.144/28 [110/2] wia 10 10.10 1, 00:00 04, GigabilEthermnet(/0
0 10.10.13.160/29 [110/2] via 10.10.10.1, 00.00.04, GigabitEtherneat0/0
O 10.10.13 20829 [110/2] via 10.10.10.1, 00:00:04, GigabilEthemet0/0
5" 0000:0[10lwa10.10.11.2

Which prefix does Router 1 use for traffic to Host A?

A.10.10.10.0/28
B. 10.10.13.0/25
C. 10.10.13.144/28
D. 10.10.13.208/29

Answer: C

NEW QUESTION 6

How does HSRP provide first hop redundancy?

A. It load-balances traffic by assigning the same metric value to more than one route to the same destination m the IP routing table.
B. It load-balances Layer 2 traffic along the path by flooding traffic out all interfaces configured with the same VLAN.

C. It forwards multiple packets to the same destination over different routed links n the data path

D. It uses a shared virtual IMC and a virtual IP address to a group of routers that serve as the default gateway for hosts on a LAN

Answer: C
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NEW QUESTION 7

A network engineer must back up 20 network router configurations globally within a customer environment. Which protocol allows the engineer to perform this
function using the Cisco I0S MIB?

A. CDP
B. SNMP
C. SMTP
D. ARP

Answer: C

NEW QUESTION 8
Refer to the exhibit.

ip arp inspaction wvlan 2

intarface fastathearnet 0/1
swi ‘_r,_":p-u:"_ Eode AcCCass
gwitchpart Accass vian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A

NEW QUESTION 9
Refer to the exhibit.

Arlantafesnf T

Enter configuration commands, cne per line. End with CNIL/Z.
Atlanta (config) #aaa new-nodel

Atlants (confiqg) fass anthsnrication login defanlt local
Atlanta (config) #line wty 0 4

Atlanta(config-line) i,luq'. fi antthantication default

Arlanta (config-line) faxic

Atlanta (config) fusernams ciscoadmin password adminadminll?)
Atlanta (config) fusernams ciscoadmin privilege 13

Arlanta (config) fanables password ciseslll

Atlanta (config) #fenable secret testinglild4

Atlanta (config) fend

Which password must an engineer use to enter the enable mode?

A. adminadmin123
B. default

C. testing 1234

D. ciscol123

Answer: C

NEW QUESTION 10

Which configuration is needed to generate an RSA key for SSH on a router?
A. Configure the version of SSH

B. Configure VTY access.

C. Create a user with a password.

D. Assign a DNS domain name

Answer: B

NEW QUESTION 10

Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.
check the answer below.
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F) )
A. Mastered
B. Not Mastered
Answer: A
Explanation:
S S
o i o - .-
E "':"—f SYTEMIC aRF mspe
Configure BPOU pua
l.-r.Ir - F-1 a._-._l - .- =
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NEW QUESTION 15

An engineer must configure a/30 subnet between two routers. Which usable IP address and subnet mask combination meets this criteria?

interface «0/0
description to HQ-A3T1:10975
ip address 172.16.1.4 255.265.2565.248

interface ¢0/0
description to HQ-A371:10975
ip address 10.2.1.3 255.255.255.252

interface «0/0
description to HQ-A371:10975
ip address 192.168.1.1 255.2565.255.248

iinterface «0/0
description to HQ-A3T1:10875
ip address 209.1656.201.2 255.255.255.252

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 17
Refer to Exhibit.
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SWi2

vip domain cisco

VEp Boddé TEARSPATGAT

vty pasawerd ciscotest

intarface fastetharnet(/1
dasceription connection to swl
switchport mode trunk
switchport trunk encapsulation dotlg

How does SW2 interact with other switches in this VTP domain?

A. It processes VTP updates from any VTP clients on the network on its access ports.

B. It receives updates from all VTP servers and forwards all locally configured VLANSs out all trunk ports
C. It forwards only the VTP advertisements that it receives on its trunk ports.
D. It transmits and processes VTP updates from any VTP Clients on the network on its trunk ports

Answer: C

NEW QUESTION 21

Drag and drop the Cisco Wireless LAN Controller security settings from the left onto the correct security mechanism categories on the right.

Layer 2 Securty Mechansms

L :&‘i:n. 1'!:“..;'1
Layer 3 Security Mechanisms (for WLAN)
WPA+WPA2
|
802.1x
A. Mastered

B. Not Mastered
Answer: A

Explanation:

| Passthrough

l.l?"i' Iiil- .!:!.:

NEW QUESTION 25

Laver 3 Security Mecharssms {for WLAN)

WPASWPA2

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the
administrative distance of the route that will be installed in the routing table?

A. 20
B. 90
C. 110
D. 115

Answer: B
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NEW QUESTION 28
What is the primary effect of the spanning-tree portfast command?

A. it enables BPDU messages

B. It minimizes spanning-tree convergence time

C. It immediately puts the port into the forwarding state when the switch is reloaded
D. It immediately enables the port in the listening state

Answer: A

NEW QUESTION 31

What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?
A. The Layer 2 switch drops the received frame

B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.

C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B

NEW QUESTION 36
Refer to the exhibit.

R2#show ip nat translations

Pro Inside global Inside local Outside local Outside global
tep 172.23.104.3:43268 10.4.4.4:43268 172.23.103.10:23 172.23.103.10:23
tep 172.23.104.4:45507 10.4.4.5:45507 172.23.103.10:80 172.23.103.10:80

An engineer configured NAT translations and has verified that the configuration is correct. Which IP address is the source IP?

A.10.4.4.4
B.10.4.4.5
C.172.23.103.10
D. 172.23.104.4

Answer: C

NEW QUESTION 37
Refer to the exhibit.

[rootiEoscTes: ~]§ 1ip routs
default via 192.168.1.1%3 dev ethl prote static
192.168.1.0/26 dev ethl proto kecnel scope link src 192.168.1.200 metcic 1

[root@BostTest ~]§ ip addr show ethl
ethl: =ty 1500 qdisc pfifo_fast gqlen 1000
link/achar 00:0C:22:83:79:A3 brd ff: ff-ff - fe-FE:-ryf
inet 192.168.1.200/26 brd 192 . 168.1.255% scops global sthl
inats fef0::20cC:290L:fedd:TO02/64 scops link
valid l1ft forever prafarred lft foraver

Drag and drop the networking parameters from the left onto the correct values on the right. Check the answer below.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 39
An engineer configured an OSPF neighbor as a designated router. Which state verifies the designated router is in the proper mode?

A. Exchange
B. 2-way

C. Full

D. Init

Answer: B

NEW QUESTION 43
Refer to the exhibit.

Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (ID)10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length 0

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)
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The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 46

An engineer is asked to protect unused ports that are configured in the default VLAN on a switch. Which two steps will fulfill the request? (Choose two)

A. Configure the ports in an EtherChannel.

B. Administratively shut down the ports

C. Configure the port type as access and place in VLAN 99
D. Configure the ports as trunk ports

E. Enable the Cisco Discovery Protocol

Answer: AD

NEW QUESTION 50

Which QoS Profile is selected in the GUI when configuring a voice over WLAN deployment?

A. Bronze
B. Platinum
C. Silver

D. Gold

Answer: B

NEW QUESTION 54
Refer to the exhibit.

T T
1LI 'y :I«.- ¥ -.I:'.- a OF
Ts) —
a4 40 el —— —
o I ‘1L:. -J'»-"
__'-'ﬁ'
ntemet |
|
e . i Ri#show ip route
R28sh run | b router ospf
L £ Gateway of last resort is not sa
router ospt 1
149 10.0.0.0/8 is variably subnetted, 4 subnets, 3 masks
e F. 1M ’
WRILICT e
C 0.10.10.0/30 is girectly connect FastEthernetD/1
Og-adjacency-Chnanges . 10.10.13.0/25 [110/65 7€ i3 10.10.10.1. 01:37-:03
auto-cost reference-bandwidth 10000 L IVLAV. 13,0020 |11002/0) Via LU.1U. 1L U3
u - - i e PR e - ~ ~ Pyt B " _ - -~ 1
network 10.10.10.1 0.0.0.0 area 0 ( 10.10.10.16/20 is directly connected, FastEthernet(/24
f oW K 1L J. 1 AR ie
e = = = — 0O 10.10.13 . 144/78 111071101 10.10.10.1. 01:37:03
"'E" '_\"'ﬁ."_ll:] 12490000 -_1'_'_‘3,-‘_ & L. AR - - -+ 2 & & & _\ll"f 4L ALr. 3 4y LF
AL L* AN ot ek = ¥
F'ﬁﬂ'rﬁ "l_‘ AIO -Qr .-\5,-\\7
;-I:Eﬂih"‘l.'_ DFQ“:P - - =R - [
T router ospt 1
Gateway of last resort is not set F“ o |
" i yuter-rgd 1.1 |
10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks ; . ;
w1 | . T Y l__..\‘_
C 10.10.10.0/30 is directly connected og-ad)a Cy-chang
t 5 b . 100w
. 10.10.13.0/25 is directly connected. Vian20 to-cost reference-bandwidth 1000C
- IV IV 1300 L0 15 Qirect ¥ connecied, vians lﬂ- o, :I C
= R v : network 1 i U  area U
C 10.10.13.144/28 is directly connected, Viand( e il o
default-information originate

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from
the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/257?

A. Traffic t0 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface GiO/1.
C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

NEW QUESTION 57

Two switches are connected and using Cisco Dynamic Trunking Protocol SW1 is set to Dynamic Desirable What is the result of this configuration?
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A. The link is in a down state.

B. The link is in an error disables state
C. The link is becomes an access port.
D. The link becomes a trunk port.

Answer: D

NEW QUESTION 58

A user configured OSPF and advertised the Gigabit Ethernet interface in OSPF By default, which type of OSPF network does this interface belong to?

A. point-to-multipoint
B. point-to-point

C. broadcast

D. nonbroadcast

Answer: B

NEW QUESTION 62

Which mode allows access points to be managed by Cisco Wireless LAN Controllers?

A. autonomous

B. lightweight

C. bridge

D. mobility express

Answer: B

NEW QUESTION 63
Refer to Exhibit.

2013 /126 SeQ/ON1 .
- -uﬂ 1 —.‘- X "
" e Washington
Atlanta v Se00 Se(00 - o3
l "‘]'1 n: : - - el L] a ’
Static route to Lo1 on Atlanta via Se0/0/1
Defauk Route 0 wa Se00/1 NI (v R0 on Atlanta via Se0/0
01 26 = :
Configured routers IPvE addresses
Atlanta
Senal 0000 . 2012..1/126
20231126 Senal 0/0/1 ° 2013 :1/126
Loopback1: 2000:1/128
~ A . New York
o000 " A Se(/0/1 ' S .
g F Senal 00010 - 20122126
_ Senal 0/0/1 - 2023:2/126
New-York Loopback2 2000 2128
Lo2 - Washington
Senal 0/0/0 ' 2023 3126
Senal 0/0/1 2013 31126
Loopback3 2000 3/128

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta

goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 67
Refer to the exhibit.

Guaranteed success with Our exam guides

visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 200-301 dumps!
D CEFtShHI'Ed https://www.certshared.com/exam/200-301/ (103 Q&AS)

Router#

10.1.1.2 Gig 37/3
10.1.1.2 Gig37/1
10.1.1.2 Gig 36/41
10.1.1.2 Gig 36/43
10.1.1.2 Ten3/2
10.1.1.2 Ten4/2

Which command provides this output?
A. show ip route

B. show ip interface

C. show interface

D. show cdp neighbor

Answer: D

NEW QUESTION 68

176
174
134
134
132
174

&

RI
RI
RI
RI
RI
RI

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, | - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID

CPT 600 Gig36/41
CPT 600 Gig36/43
CPT 600 Gig37/3
CPT 600 Gig37/1
CPT 600 Ten 4/2
CPT 600 Ten 3/2

Drag and drop the IPv4 network subnets from the left onto the correct usable host ranges on the right

ol Bl B PLE]-
& 0 sl d

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 69
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding

D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 73
When a floating static route is configured, which action ensures that the backup route is used when the primary route fails?

A. The floating static route must have a higher administrative distance than the primary route so it is used as a backup
B. The administrative distance must be higher on the primary route so that the backup route becomes secondary.

C. The floating static route must have a lower administrative distance than the primary route so it is used as a backup
D. The default-information originate command must be configured for the route to be installed into the routing table

Answer: A

NEW QUESTION 76
What makes Cisco DNA Center different from traditional network management applications and their management of networks?

A. It only supports auto-discovery of network elements in a greenfield deployment.

B. It modular design allows someone to implement different versions to meet the specific needs of an organization
C. IT abstracts policy from the actual device configuration

D. It does not support high availability of management functions when operating in cluster mode

Answer: A

NEW QUESTION 81

Which network allows devices to communicate without the need to access the Internet?
A. 1729.0.0/16

B. 172.28.0.0/16

C. 192.0.0.0/8

D. 209.165.201.0/24

Answer: D

NEW QUESTION 85
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.
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prowiges reébabaty when lbaaing an 10S /mage upon boot up

goes Nt requre user authentication

uses pot 69

wsesports 20 and 21

usss TCP

uses UDP

A. Mastered
B. Not Mastered

Answer: A

Explanation:

prowvides relabaty when lbaang an 105 image upon Doot up

goes not reguere yser juthentication

uses port 69

FP

FTe

prowdes relabisty when loaaing an 105 image upon boot up

usesports 20 and 22

uses TCP

uses ports 20 and 21

uses TCP

NEW QUESTION 90
Refer to the exhibit.
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Router2 —

RouterZ2show ip route
Gateway of last resort is not set

10.0.0.0/8 s vanably subnetted, 4 subnets, 2 masks

C 10.10.10.8/30 is directly connected, FastEthernetl2
C 10 10.10 12730 i1s dwectly connected, FastEthemet(/1
8] 10.10.13.0/25[110/11] wia 10.10.10.9, 00:00.03, FastEthermet0/2

[110/11] via 10.10.10.13, 00:00:03, FastEthemet(/1
10 10.10 4/30 1s directly connected, FastEthemet(/2

If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?

A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: D

NEW QUESTION 94
Refer to the exhibit.

Gi02  Gio/ e
Internet “
N g Gl /2
[ ——
10.0.20.0/26 ,!L ,EL 10.0.10.0/26
_—_— |
RZ (config) $access-1ist 101 deny tcecp 10.0. 20. .0.063
10.0.10.0 0.0.0.€3 eg smtr
R2 (config) #acces list 101 deny tcr . 20. [ : v
10.0.10.0 0.0.0.€63 eq www
R2(config-1f)# 1p access-group 101 in

An extended ACL has been configured and applied to router R2 The configuration farted to work as intended Which two changes stop outbound traffic on TCP
ports 25 and 80 to 10.0 20 026 from the 10.0.10 0/26 subnet while still allowing all other traffic? (Choose two)

A. Add a "permit ip any any" statement to the begining of ACL 101 for allowed traffic.
B. Add a "permit ip any any" statement at the end of ACL 101 for allowed traffic

C. The source and destination IPs must be swapped in ACL 101

D. The ACL must be configured the Gi0/2 interface inbound on R1

E. The ACL must be moved to the Gi0O/1 interface outbound on R2

Answer: AE

NEW QUESTION 96
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Drag and drop the WLAN components from the left onto the correct descriptions on the right.

areess LAN sontroler

A. Mastered
B. Not Mastered

Answer: A

Explanation:
5:1
1.2
2:4
4:3
3:5

NEW QUESTION 97
Refer to the Exhibit.
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After the switch configuration the ping test fails between PC A and PC B Based on the output for switch 1. which error must be corrected?

A. There is a native VLAN mismatch

B. Access mode is configured on the switch ports.
C. The PCs are m the incorrect VLAN

D. All VLANSs are not enabled on the trunk

Answer: A

NEW QUESTION 102
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